Algebra II Schedule


     Name________________________

Chapter 8 Rational Functions 
	Lesson
	Topic
	Assignment

	1
	8.1 Variation Functions
	Pg. 573+  #1-27 eoo

	2
	8.2 Multiplying and Dividing Rational Expressions
	Pg. 580+  #1-33 odds, 34, 45,47,49

	3
	8.3 Adding and Subtracting

Rational Expressions 
	Pg. 588+  #1-11 odds, 17-27 odds, 

           33-41 odds

	4
	8.4 Rational Functions
	Pg. 597  #1-41 eoo

	5
	8.5 Solving Rational Equations
	Pg. 605 #1-10

	6
	8.6 Radical Expressions and

Rational Exponents
	Pg. 614 # 1 – 59 eoo 

	7
	8.8 Solving Radical Equations
	Make-up Days 1-4

	8,9,10
	Exam Review
	Exam Review Sheet
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[image: image1.png]1. Vocabulary A variation function in which k is positive and one quantity decreases.
when the other increases is a(n) _? . (direct variation o indirect variation)

Given: y varies directly as x. Write and graph each direct variation function.
2 y=6whenx=3 3. y=f5whenx=-5 4 y=Siwhenx

5

5. Physics The wavelength A of a wave of a certain frequency varies directly as the
velocity v of the wave, and A = 60 ft when v'= 15 f/s. Find A when v = 3 f/s.

6. Work The dollar amount d that Julia earms varies directly as the number of hours f
that she works, and d = $116.25 when { = 15 h. Find f when d = $178.25.

7. Geometry The volume V of a rectangular prism of  particular height varies jointly
as the length £and the width w, and V'= 224 ) when €= 8 ftand w= 4 f. Find £
when V=210 and w=5 ft.

8. Economics The total cost C of electricity for a particular light bulb varies ointly as
the time tthat the light bulb is used and the cost k per kilowatt-hour, and C= 12¢
when £ = 50 h and k = 6¢ per kilowatt-hour. Find C to the nearest cent when £ = 30 h
and k = 8¢ per klowatt-hour.

Given:sries iversly as Wit and graph schinverse v fnton.
PN A S

10

12. Travel The time fthat it takes for a salesman to drive a certain distance d varies
inversely as the average speed r. I takes the salesman 4.75 h to travel between two,
cities at 60 mi/h. How long would the drive take at 50 mi/ht

Determine whether cach data set represents a direct variation, an Inverse variation,
or neither.

B x[2]s5]s W s (a1 5k [ala 2
y[3[ele y[2[3]® A EEE





[image: image2.png]16. Cars The power P that must be delivered by a car engine varies directly as the.
distance d that the car moves and inversely as the time ¢ required to move that
distance. To move the car 500 m in 50', the engine must deliver 147 kilowats (kW)
of power. How many kilowatts must the engine deliver to move the car 700 m in 30 s7

PRACTICE AND PROBLEM SOLVING
Given: y varles directly as . Write and graph each direct variation function.
17. y=4whenx=8 18. y= 12 whenx=2 19, y= 15 whenx-

20. Medicine The dosage d of a drug that a physician prescribes varies directly as the
‘patient’s mass m, and d = 100 mg when m = 55 kg. Find d o the nearest milligram
when m = 70 kg.

21. Nutrition The number of Calories Cin a horned
‘melon varies directly as ts weight w, and C = 25 Cal
when = 3.5 oz. How many Calories are in the
‘horned melon shown on the scale? Round to the
nearest Calorie.

22. Agriculture The number of bags of soybean
sceds N that a farmer needs varies Jointly as the number of acres ato be planted
and the pounds of sced needed per acre p, and = 380 when a = 700 acres and
=170 Ib/acre. Find N when a= 1000 acres and p = 75 Ib/acre.

23. Physics The heat Q required t0 raise the temperature of water varies jointly
s the mass m of the water and the amount of temperature change T, and

Q= 20830 joules (J) when m = 1 kg and T= 5°C. Find m when Q= 8372 ] and
T=10C,

Given: y varles Inversely as x. Write and graph the Inverse variation function.
2. y=1lwhenr=08 25 y=175whenr=6  26. y=—2whenx=3

q Entertainment The number of days it takes  theater crews to set up  stage for
sl vare sy he e of ok h 3 ca b s op
iy by 20 workers, hows many days wold 1 ke ifonly 13 workers were salable?
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[image: image3.png]1. Vocabulary How can you tellif an algebraic expression is a rational expression?.
‘Simplify.Identify any x-values for which the expression Is undefined.

4 6x?413x—5 x+4
2 3 a
=6 EEr St
5 _x-4 6 Es7r-3 5, b6
B B 1

Multiply. Assume that all expressions are defined.
x-2 4x-6 x-2 268 16 x-2
8. . o. . 0. .
w-3 o4 -3 %15 Foaxia Frexis

PRACTICE AND PROBLEM SOLVING
Simplify. entity any - valuesforwhich the expression s undefined:
18, =8 19, Br—d w0, *
-2 2 4ox-5 12+ 36
3x+18 —2x2—9x 4x 420
2 2 5
U-_2-x* o8l —5-x





[image: image4.png]Multiply. Assume that all expressions are defined.
2y W

S

26 Fo2r—8 3410048

16 16

Divide. Assume that all expressions are defined.

A a15re9  Pidar 20, Fotxos
B H10r+3 C ZAT et
Poz3

3.
Fox-2





[image: image5.png]45. HJERROR ANALYSISHfY Two students simplified the same expression. Which is
incorrect? Explain the error

x4 25 3. s this equation true for all values of  Explain.

S
47. For which values of x is the expression

undefined?

Fix-2
@ 0and1 @® 1and2  © -1and2 ® —2and1
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[image: image6.png]1. Vocabulary How does a complex fraction differ from other types of fractions?
Add or subract. Identify any x-values for which the expression is undefined.

29, ared Peiye) g arsa

def o1 3“!{57‘!{5 "2:757375

Find theleast common malplefo each pai.

5. 4 and tev'y 6 Xt 25andt 4 107425

Add o subract. Idenify any x-values forwhich the expression s undefined.
B2, 203 P S, 201

T ive tan B it R
35 25 i 3 sz _xe1

1. 2x—5" 3x+1 n *F_16 x—4 2 Miaxs3 143




[image: image7.png]Add or subtract. Identify any x-values for which the expression is undefined.

2x-3, 263 x-5 _ 3x-5 -3 25
= A = R T T AT
Find the least common multpl fo each pair
20. 12 and 14x% 21 165~ 25and 4’ —x 5
Add or subtract, Identiy any -values for which the expression s undefined.

w2, 2 27, w &, 7
fl F s T Bt mee 2t
2 o3 23 % x4l P 2

= w3 -3 g o}




[image: image8.png]Add or subtract. Identify any x-values for which the expression is undefined.

2, x L xid 2 3
ES u 5
TFitE3 Fogtxee For-m i
n, x 9 243 x
Bogtantys Pioirz Bniiwen

o 6 x5 X217 100
0. - 0. —E=E g -
T+d -3 Piax—32 x-4 P i1axia2 D487
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[image: image9.png]1. Vocabulary Afunction with a hole iniits graph is _?_. (continuous or

discontinuous)
Using the graph of /() = L as a guide, describe the transformation and graph each
function.

3 gw=is 4=l
Identify the asymptotes, domain, and range of each function.
5 fo=1-1 6 f)= iy +3 7 fo =

deny he eros and veticalasymplotesofeach functio. Then graph.
T [

8 = 9 f= 10, f—
ety s oymptesf s o Thn g
=T s 22 g = 252
dentiy hles n th graph of ech uncton. Thengraph.
L I i

PRACTICE AND PROBLEM SOLVING
Using the graph of £(x) = - as a guide, describe the transformation and.
raph sch fancton.

1. g 8 g =y 19, g0 =2
Idendyth asymptotes, domain,and range of eachfuncion.
0 =g 21 fw=1s5 2 -3
ety et el ssympoe o cach . Then g
(x+2) 2-x)(4+x) ,z "

2. 2. fim= 2.1

O =227 = 5=
Ideny h s andasympotes o s funcon. Then raph.
%. fg= 7522 7. fw= 55 2. /(r,,zr’tx

denty holes i the graph o eachfuncton. Then graph.
2. =% 30 = AT 31 fw =





[image: image10.png]Identify all zeros, asymptotes, and holes in the graph of each function.

_@-x-3 ) a5
B =L . fm=2-1 35, f = 5=
_Piees _x _x-9
36. f(9= 7. =5 B =52

‘Write a rational function with the given characteristics.
39, zeros at —1 and 3 and vertical asymptote atx= 0

40. zero at 2, vertical asymptotes at x
1. zero at 2, vertical asymptote at x-

2and x= 0, and horizontal asymptote at y = 0
horizontal asymptote at y= 1, and hole atx= —3
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[image: image11.png]1. Vocabulary How does a rational expression differ from a rational equation?
Solve each equation.
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[image: image12.png]1. Vocabulary The index of the expression V4is _7 .(2,3,0r4)

Find llreal roots.
2. cube oots of 27 3. fourthrootsof €25 4. cube rootsof0
Stmplify each expression. Assume thatal variabls ae positve.
7 oz T2
5350 (¥ 7 = & Vaor
JE N =

wEAE U L
Writecach xpresion nsadica form, and simpiiy. .
13. 367 1. 32 15. (-27)° 16 8%
Wiite each expression b ustng ratonal exponents. N
17,955 Ve o, {5 ». 45

2 () 2 (2)

27. (c129)} 2. (6

29. Geometry The side length of a cube can be determined by
finding the cube root of the volume. What i the side length
to the nearest inch of the cube shown?





[image: image13.png]Find all real roots.
30. cube roots of ~64 31, fifth roots of 32 32. fourth roots of ~16.

Simplify each expression. Assume that all variables are positive.

B AR = {[Z 3.

3. 455 1‘% 3097 F 0. w
Vit cach xpresonnrdisform,and sl

a6 a2 2|5’ 43. (- lnm)z a6
Wetecach expression by usng raional exponenis.

s . (7-9)' . ) P
Simply ach expresion.

4 (a-o0)! s0. 101 st (2) )

12 s ()
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[image: image14.png]a radical equation? Explain.

3. Vix=6 avFTz=2

6. 2WE=VETD 7ETI=VE—2
8 2yx=Vr+7 9 VXF6-VZi—4=0 10. &/x+1=3Vx+2
N VEIe=x 2 VEElE=x-2 B VER-T=x-3
W VFTE-x=4 BV E Tl 16 VI T0=2r 43
7. (x-5)7=3 18 (2x+1)i=2 19. (4x+5)7
20. 2(x—50)3= 10 20 2x+1)2=1 22. (45— ax)’
Solve cach inequality.

B.VTF5-1<4 24.VIx+6<10 25. VZxi5 <5




